# District School Board of Pasco County Bid Recommendation

Bid Title	Fencing Materials Maintenance Department	Number of Vendors Notified	81
Bid Number	08-027-LR	Number of Bids Distributed	20
Date Solicited	September 19, 2007	Number of Vendors Bidding	4
<b>Date Opened</b>	October 8, 2007	Number of Vendors Not Bidding	0
Date Board Presentation	November 6, 2007	Funding Source	General
<b>Total Savings</b>	\$44,506.15	Grand Total of Bid	\$730,362.07

#### **Recommendation:**

Recommend acceptance of bid from U.S. Wholesale Pipe & Tube, Inc., as noted on attached bid tabulation sheet, as lowest and best, responsive and responsible, "all-or-none" bid meeting written specifications.

#### **Term of Contract:**

This is a semi-annual bid renewable at six-month intervals for up to two subsequent years based upon mutual agreement of both parties. The first semi-annual term of this contract shall be effective from November 7, 2007 to April 16, 2008.

# **Notations and Exceptions:**

It is estimated that approximately \$200,000 may be purchased annually under this contract; this is an estimate only and may vary (i.e., greater than or less than) significantly from this amount.

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

#### **Bids Evaluated By:**

Harvey Doers, Assistant Crew Chief, Maintenance Department

## **Bids Prepared By:**

Laurie Roberts, CPPB, Buyer, Purchasing Department

## Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

Date/Time: October 31, 2007 09:07:00

DATE O	DATE OF OPENING: October 8, 2007 @ 2:30PM		Cole	e Fence Inc.	McConr	nie Fence Co
		cing Materials		Culbreath Rd		S 30th Ave
BID# 0	8-027-L		Brooks	ville, FL 34602	Tampa	ı, FL 33619
17514"	O.T.) /	**Board Meeting 11/6/07**	LINIT BRIDE	TOTAL BRIDE	LINIT BRIDE	TOTAL BRIDE
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM1	20	Chain Link Fence 42"'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$82.00	\$1,640.00	\$91.20	\$1,824.00
FM2	250	Chain Link Fence 4'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$88.00	\$22,000.00	\$104.20	\$26,050.00
FM3	20	Chain Link Fence 5'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$120.00	\$2,400.00	\$130.20	\$2,604.00
FM4	400	Chain Link Fence 6'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$132.00	*\$2,640.00/\$52,800.00	\$155.00	\$62,000.00
FM5	10	Chain Link Fence 8'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$187.50	\$1,875.00	\$207.00	\$2,070.00
FM6	8	Chain Link Fence 10'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$237.00	\$1,896.00	\$258.20	\$2,065.60
FM7	8	Chain Link Fence 12'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs Chain Link Fence 4'H x 50' Roll - #6 Gauge,	\$275.50	\$2,204.00	\$310.00	\$2,480.00
FM8	200	2" mesh, Knuckle-to-Knuckle, NO Barbs, Black Chain Link Fence 5'H x 50' Roll - #6 Gauge,	\$250.00	\$50,000.00	\$154.20	\$30,840.00
FM9	10	2" mesh, Knuckle-to-Knuckle, NO Barbs, Black Chain Link Fence 6'H x 50' Roll - #6 Gauge,	\$260.00	\$2,600.00	\$193.20	\$1,932.00
F10	300	2" mesh, Knuckle-to-Knuckle, NO Barbs, Black	\$270.00	\$81,000.00	\$230.00	\$69,000.00
FM11 FM12	1150 1	Fence Dome Top Cap 1-5/8" Galvanized Fence Dome Top Cap 1-7/8" Galvanized	\$0.41 \$0.46	\$471.50 \$0.46	\$0.42 \$0.45	\$483.00 \$0.45
FM13		Fence Dome Top Cap 1-7/8 Galvanized Fence Dome Top Cap 2-3/8" Galvanized	\$0.46 \$1.10	\$1,100.00	\$0.45	\$630.00
FM14	500	Fence Dome Top Cap 2-7/8" Galvanized	\$2.20	\$1,100.00	\$0.75	\$375.00
FM15	1	Fence Dome Top Cap 4" Galvanized	\$3.90	\$3.90	\$1.25	\$1.25
FM16	5000	Fence Dome Top Cap 1-5/8" Aluminum	\$0.37	\$1,850.00	\$0.40	\$2,000.00

DATE C	F OPE	NING: October 8, 2007 @ 2:30PM	US Wholesale	Pipe & Tube, Inc	West Coas	t Fence Corp
		ncing Materials		Grand Blvd	6500 49 St N	
BID#0	8-027-l		Holiday	, FL 34690	Pinellas Park, FL 33781	
ITENAU	OTY	**Board Meeting 11/6/07**	LINIT DDIOE	TOTAL DDIOE	LINIT DDIOE	TOTAL DDIOE
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM1	20	Chain Link Fence 42"'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$80.00	\$1,600.00	\$90.50	\$1,810.00
FM2	250	Chain Link Fence 4'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$103.50	\$25,875.00	\$107.00	\$26,750.00
FM3	20	Chain Link Fence 5'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$130.00	\$2,600.00	\$122.50	\$2,450.00
FM4	400	Chain Link Fence 6'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$165.00	\$66,000.00	\$154.00	\$61,600.00
FM5	10	Chain Link Fence 8'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$235.50	\$2,355.00	\$207.00	\$2,070.00
FM6	8	Chain Link Fence 10'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$295.00	\$2,360.00	\$261.00	\$2,088.00
FM7	8	Chain Link Fence 12'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs Chain Link Fence 4'H x 50' Roll - #6 Gauge, 2" mesh, Knuckle-to-Knuckle, NO Barbs,	\$354.00	\$2,832.00	\$304.00	\$2,432.00
FM8	200	Black Chain Link Fence 5'H x 50' Roll - #6 Gauge,	\$165.00	\$33,000.00	\$187.50	\$37,500.00
FM9	10	2" mesh, Knuckle-to-Knuckle, NO Barbs, Black Chain Link Fence 6'H x 50' Roll - #6 Gauge,	\$218.50	\$2,185.00	\$239.50	\$2,395.00
F10	300	2" mesh, Knuckle-to-Knuckle, NO Barbs, Black	\$246.00	\$73,800.00	\$279.50	\$83,850.00
FM11		Fence Dome Top Cap 1-5/8" Galvanized	\$0.68	\$782.00	\$0.84	\$966.00
FM12	1	Fence Dome Top Cap 1-3/8" Galvanized	\$0.70	\$0.70	\$0.96	\$0.96
FM13	1000		\$0.65	\$650.00	\$0.56	\$560.00
FM14	500	Fence Dome Top Cap 2-7/8" Galvanized	\$0.80	\$400.00	\$0.79	\$395.00
FM15	1	Fence Dome Top Cap 4" Galvanized	\$1.33	\$1.33	\$1.72	\$1.72
FM16	5000		\$0.28	\$1,400.00	\$0.32	\$1,600.00

		NING: October 8, 2007 @ 2:30PM		e Fence Inc.		nnie Fence Co
		cing Materials		Culbreath Rd		7 S 30th Ave
BID# 0	8-027-L	.R **Board Meeting 11/6/07**	Brooks	sville, FL 34602	Tampa, FL 33619	
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM17	5000	Fence Dome Top Cap 1-7/8" Aluminum	\$0.45	\$2,250.00	\$0.55	\$2,750.00
FM18	1	Fence Dome Top Cap 2-3/8" Aluminum	\$0.64	\$0.64	\$0.75	\$0.75
FM19	1500	Fence Dome Top Cap 2-7/8" Aluminum	\$0.89	\$1,335.00	\$0.79	\$1,185.00
FM20	1	Fence Dome Top Cap 4" Aluminum	\$1.94	\$1.94	\$2.00	\$2.00
		Fence Dome Top Cap 1-5/8" Aluminum,	·		·	
FM21	4000	Black	\$0.98	\$3,920.00	\$0.84	\$3,360.00
		Fence Dome Top Cap 2-1/2" Aluminum,				
FM22	4000	Black	\$1.45	\$5,800.00	\$1.17	\$4,680.00
FM23	2000	Fence Dome Top Cap 3" Aluminum, Black	\$3.45	*\$40,200,00/\$40,250,00	\$1.29	¢2.970.00
FIVIZS	3000	Fence Post (Corner) 3" O.D. x 13' Heavy	<b></b>	*\$10,390.00/\$10,350.00	φ1.29	\$3,870.00
		Duty, Hot Dip Galvanized, Steel Tubing,				
FM24	1	S.S. 40	\$34.35	\$34.35	\$48.00	\$48.00
1 10124		Fence Post 2" O.D. x 6', S.S. 20, Steel	ψ04.00	ψ54.55	Ψ40.00	Ψ40.00
FM25	1800	Tubing, Hot Dip Galvanized	\$7.56	\$13,608.00	\$8.95	\$16,110.00
1 10120	1000	Fence Post 2" O.D. x 8', S.S. 20, Steel	ψ1.00	Ψ10,000.00	ψ0.55	Ψ10,110.00
FM26	2400	Tubing, Hot Dip Galvanized	\$10.08	\$24,192.00	\$12.34	\$29,616.00
1 1/120	2100	Fence Post 2" O.D. x7', S.S. 20, Steel	Ψ10.00	Ψ2 1,102.00	Ψ12.01	Ψ20,010.00
FM27	1000	Tubing, Hot Dip Galvanized	\$8.80	\$8,800.00	\$10.90	\$10,900.00
		Fence Post 2-1/2" O.D. x 6', S.S. 20, Steel		. ,	·	,
FM28	200	Tubing, Hot Dip Galvanized	\$13.44	\$2,688.00	\$12.20	\$2,440.00
		Fence Post 2-1/2" O.D. x 7', S.S. 20, Steel				
FM29	1250	Tubing, Hot Dip Galvanized	\$14.26	\$17,825.00	\$11.90	*\$2,375.00/\$14,875.00
		Fence Post 2-1/2" O.D. x 8', S.S. 20, Steel				
FM30	1000	Tubing, Hot Dip Galvanized	\$16.30	\$16,300.00	\$16.25	\$16,250.00
		Fence Post 3"x 13', S.S. 20, Steel Tubing,				
FM31	1200	Black	\$56.76	\$68,112.00	\$71.25	\$85,500.00
		Fence Post 2"x 6', S.S. 20, Steel Tubing,				
FM32	2000	Black	\$22.17	\$44,340.00	\$13.50	\$27,000.00
<b>51.400</b>		Fence Post 2"x 8', S.S. 20, Steel Tubing,	400.47	<b>*</b> * * * * * * * * * * * * * * * * * *	0.10.00	000 000 00
FM33	2000	Black	\$22.17	\$44,340.00	\$18.00	\$36,000.00
EN404	1000	Fence Post 2"x 7', S.S. 20, Steel Tubing,	<b>#40.00</b>	#2C 442 00	<b>645.75</b>	ФОГ 000 00
FM34	1600	Black Fence Post 2 1/2"x 6', S.S. 20, Steel	\$16.32	\$26,112.00	\$15.75	\$25,200.00
FM35	1000	Tubing, Black	\$24.97	\$24,970.00	\$19.85	\$19,850.00
FIVISS	1000	Fence Post 2 1/2"x 7', S.S. 20, Steel	φ24.9 <i>1</i>	\$24,970.00	ψ19.00	\$19,650.00
FM36	1000	Tubing, Black	\$29.13	\$29,130.00	\$23.15	\$23,150.00
1 10130	1000	Fence Post 2 1/2"x 8', S.S. 20, Steel	ψ <b>∠</b> ઝ. 1 ડ	Ψ23,130.00	ψ20.10	φ20,100.00
FM37	2000	Tubing, Black	\$30.29	\$60,580.00	\$26.50	\$53,000.00
1 10107	2000	Fence Post 3"x 7', S.S. 20, Steel Tubing,	ψυυ.Ζυ	φου,σου.σο	Ψ20.00	ψου,ουυ.ου
FM38	1200	Black	\$48.90	\$58,680.00	\$38.35	\$46,020.00

		NING: October 8, 2007 @ 2:30PM		Pipe & Tube, Inc		t Fence Corp
		ncing Materials		rand Blvd	6500 49 St N	
BID# 0	18-027-L	_R **Board Meeting 11/6/07**	Holiday,	FL 34690	Pinellas Park, FL 33781	
ITEM#	QTY.		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM17	5000	Fence Dome Top Cap 1-7/8" Aluminum	\$0.32	\$1,600.00	\$0.43	\$2,150.00
FM18	1	Fence Dome Top Cap 2-3/8" Aluminum	\$0.50	\$0.50	\$0.56	\$0.56
FM19	1500	Fence Dome Top Cap 2-7/8" Aluminum	\$0.68	\$1,020.00	\$0.79	\$1,185.00
FM20	1	Fence Dome Top Cap 4" Aluminum	\$1.30	\$1.30	\$1.72	\$1.72
0		Fence Dome Top Cap 1-5/8" Aluminum,	<b>V</b> 1.00	ψσσ	ΨΞ	<b>V</b>
FM21	4000	Black	\$0.60	\$2,400.00	\$0.98	\$3,920.00
	1000	Fence Dome Top Cap 2-1/2" Aluminum,	Ψ0.00	Ψ2,100.00	ψο.σσ	ψο,ο2ο.οο
FM22	4000	• •	\$0.90	\$3,600.00	\$1.46	\$5,840.00
1 10122	4000	Black	ψ0.50	ψο,οοο.οο	Ψ1.40	ψο,ο-ιου
FM23	3000	Fence Dome Top Cap 3" Aluminum, Black	\$1.25	\$3,750.00	\$1.97	\$5,910.00
1 10123	3000	Fence Post (Corner) 3" O.D. x 13' Heavy	Ψ1.20	ψ5,750.00	Ψ1.37	ψ5,510.00
		Duty, Hot Dip Galvanized, Steel Tubing,				
FM24	1	S.S. 40	\$50.85	\$50.85	\$51.06	\$51.06
1 10124		Fence Post 2" O.D. x 6', S.S. 20, Steel	ψ50.65	ψ50.05	ψ51.00	ψ31.00
FM25	1800		\$9.18	\$16,524.00	\$10.13	\$18,234.00
FIVIZO	1600	Fence Post 2" O.D. x 8', S.S. 20, Steel	ф9.10	\$10,324.00	φ10.13	\$10,234.00
EMAG	2400	Tubing, Hot Dip Galvanized	¢40.00	¢20, 220, 00	¢40.45	\$24 ECO 00
FM26	2400	Fence Post 2" O.D. x7', S.S. 20, Steel	\$12.22	\$29,328.00	\$13.15	\$31,560.00
EN 407	4000		<b>#0.00</b>	<b>#0.000.00</b>	<b>644.00</b>	Ф44 000 00
FM27	1000		\$9.98	\$9,980.00	\$11.82	\$11,820.00
EN 400	000	Fence Post 2-1/2" O.D. x 6', S.S. 20, Steel	<b>040.50</b>	<b>#0.400.00</b>	<b>C40.40</b>	<b>#0.400.00</b>
FM28	200	Tubing, Hot Dip Galvanized	\$10.50	\$2,100.00	\$12.43	\$2,486.00
EN400	4050	Fence Post 2-1/2" O.D. x 7', S.S. 20, Steel	<b>C4400</b>	¢47.750.00	<b>C4454</b>	<b>040 407 50</b>
FM29	1250	3, 1, 1	\$14.20	\$17,750.00	\$14.51	\$18,137.50
EN 400	4000	Fence Post 2-1/2" O.D. x 8', S.S. 20, Steel	04400	<b>#</b> 44.000.00	040.50	<b>0.40 500</b> 00
FM30	1000		\$14.20	\$14,200.00	\$16.58	\$16,580.00
EN 40.4	4000	Fence Post 3"x 13', S.S. 20, Steel Tubing,	000.74	<b>#70.050.00</b>	0.45.00	<b>#</b> 5404000
FM31	1200		\$60.71	\$72,852.00	\$45.29	\$54,348.00
<b>51.400</b>		Fence Post 2"x 6', S.S. 20, Steel Tubing,	0.40.45	<b>***</b>	040.00	405.000.00
FM32	2000		\$12.15	\$24,300.00	\$12.66	\$25,320.00
		Fence Post 2"x 8', S.S. 20, Steel Tubing,			<b>*</b>	
FM33	2000		\$16.11	\$32,220.00	\$16.17	\$32,340.00
		Fence Post 2"x 7', S.S. 20, Steel Tubing,			<b>.</b>	<b>^</b>
FM34	1600		\$13.16	\$21,056.00	\$14.16	\$22,656.00
		Fence Post 2 1/2"x 6', S.S. 20, Steel				
FM35	1000		\$15.28	\$15,280.00	\$15.78	\$15,780.00
		Fence Post 2 1/2"x 7', S.S. 20, Steel			<b>.</b>	
FM36	1000		\$19.10	\$19,100.00	\$19.03	\$19,030.00
		Fence Post 2 1/2"x 8', S.S. 20, Steel				
FM37	2000	Tubing, Black	\$21.89	\$43,780.00	\$21.75	\$43,500.00
		Fence Post 3"x 7', S.S. 20, Steel Tubing,				
FM38	1200	Black	\$32.47	\$38,880.00	\$24.39	\$29,268.00

		NING: October 8, 2007 @ 2:30PM		Fence Inc.	1	ie Fence Co
		cing Materials		Culbreath Rd		30th Ave
BID# 0	8-027-L	**Board Meeting 11/6/07**	Brooksville, FL 34602		Tampa, FL 33619	
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM39		Fence Post 1 5/8"x 21', S.S. 20, Steel Tubing, Black SE	\$35.91	\$50,274.00	\$37.50	\$52,500.00
LINISA	1400	Fence Post 3" O.D. x 7', S.S. 20, Steel	φ33.91	φ50,274.00	φ37.50	φ52,500.00
FM40	500	Tubing, Hot Dip Galvanized	\$18.76	\$9,380.00	\$21.50	\$10,750.00
FM41	350	Fence Post 3" O.D. x 9', S.S. 20, Steel Tubing, Hot Dip Galvanized	\$24.12	\$8,442.00	\$28.35	\$9,922.50
FM42	20	Fence Top Rail 1-5/8" x 21', Hot Dip Galvanized S.S. 20, Swedged End, (61/bundle)	\$1,348.71	\$26,974.20	\$1,525.00	\$30,500.00
FM43	10	Fence Top Rail 1-3/8" x 21', #16 Gauge, Hot Dip Galvanized, Swedged End, (91/bundle)	\$1,641.64	\$16,416.40	\$1,600.00	\$16,000.00
FM44		Fence Top Rail 1-3/8" x .055 x 21', Swedged End, Black	\$28.35	\$0.00	\$21.50	\$0.00
FM45	300	Fence Sleeves 1-5/8" x 6" Hot Dip Galvanized	\$1.11	\$333.00	\$0.69	\$207.00
FM46	200	Fence Sleeves 1-3/8" x 6" Hot Dip Galvanized	\$0.79	\$158.00	\$0.50	\$100.00
FM47	1	Fence Strap 1-3/8" Offset, Tension Band, Hot Dip Galvanized	\$0.19	\$0.19	\$0.25	\$0.25
FM48	300	Fence Strap 1-5/8" Offset, Tension Band, Hot Dip Galvanized	\$0.26	*\$0.78/\$78.00	\$0.26	\$78.00
FM49	1	Fence Strap 1-7/8" Offset, Tension Band, Hot Dip Galvanized	\$0.27	\$0.27	\$0.30	\$0.30
FM50	3000	Fence Strap 2-3/8" Offset, Tension Band, Hot Dip Galvanized	\$0.28	\$840.00	\$0.30	\$900.00
FM51	1000	Fence Strap 2-7/8" Offset, Tension Band, Hot Dip Galvanized	\$0.36	\$360.00	\$0.35	\$350.00
FM52	1	Fence Strap 3-1/2" Offset, Tension Band, Hot Dip Galvanized	\$0.51	\$0.51	\$0.75	\$0.75
FM53	1	Fence Strap 4" Offset, Tension Band, Hot Dip Galvanized	\$0.72	\$0.72	\$0.75	\$0.75
FM54	1000	Fence Strap 1 3/8" Offset, Tension Band, Black	\$0.76	\$760.00	\$0.46	\$460.00
FM55	1500	Fence Strap 1 5/8" Offset, Tension Band, Black	\$0.77	\$1,155.00	\$0.50	\$750.00
FM56	500	Fence Strap 2" Offset, Tension Band, Black	\$0.82	\$410.00	\$0.53	\$265.00
FM57	1500	Fence Strap 2 1/2" Offset, Tension Band, Black	\$0.87	\$1,305.00	\$0.55	\$825.00
FM58	<u>10</u> 00	Fence Strap 3" Offset, Tension Band, Black	\$0.96	\$960.00	\$0.64	\$640.00

DATE C	F OPE	NING: October 8, 2007 @ 2:30PM	US Wholesale	Pipe & Tube, Inc	West Coast	Fence Corp
		cing Materials		rand Blvd	6500 49 St N	
BID# 0	8-027-L		Holiday,	FL 34690	Pinellas Park, FL 33781	
		**Board Meeting 11/6/07**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM39	1400		\$34.80	\$48,720.00	**\$1.64/\$34.44	\$2,296/\$48,216.00
FM40	500	Fence Post 3" O.D. x 7', S.S. 20, Steel Tubing, Hot Dip Galvanized Fence Post 3" O.D. x 9', S.S. 20, Steel	\$22.10	\$11,050.00	\$21.46	\$10,730.00
FM41	350	Tubing, Hot Dip Galvanized Fence Top Rail 1-5/8" x 21', Hot Dip	\$28.41	\$9,943.50	\$27.59	\$9,656.50
FM42	20	Galvanized S.S. 20, Swedged End, (61/bundle) Fence Top Rail 1-3/8" x 21', #16 Gauge,	\$1,557.94	\$31,158.80	\$1,729.00	\$34,580.00
FM43	10	Hot Dip Galvanized, Swedged End, (91/bundle) Fence Top Rail 1-3/8" x .055 x 21',	\$1,231.23	\$12,312.30	**\$0.79/\$1,509.69	\$7.90/\$15,096.90
FM44		Swedged End, Black Fence Sleeves 1-5/8" x 6" Hot Dip	\$17.32	\$0.00	\$26.25	\$0.00
FM45	300	Galvanized Fence Sleeves 1-3/8" x 6" Hot Dip	\$0.73	\$219.00	\$0.98	\$294.00
FM46	200	Galvanized Fence Strap 1-3/8" Offset, Tension Band,	\$0.60	\$120.00	\$0.70	\$140.00
FM47	1	Hot Dip Galvanized Fence Strap 1-5/8" Offset, Tension Band,	\$0.25	\$0.25	\$0.16	\$0.16
FM48	300	Hot Dip Galvanized Fence Strap 1-7/8" Offset, Tension Band,	\$0.24	\$72.00	\$0.18	\$54.00
FM49	1	Hot Dip Galvanized Fence Strap 2-3/8" Offset, Tension Band,	\$0.25	\$0.25	\$0.19	\$0.19
FM50	3000	Hot Dip Galvanized Fence Strap 2-7/8" Offset, Tension Band,	\$0.233	\$699.00	\$0.22	\$660.00
FM51	1000	Hot Dip Galvanized Fence Strap 3-1/2" Offset, Tension Band,	\$0.30	\$300.00	\$0.27	\$270.00
FM52	1	Hot Dip Galvanized Fence Strap 4" Offset, Tension Band, Hot	\$0.45	\$0.45	\$0.56	\$0.56
FM53	1	Dip Galvanized Fence Strap 1 3/8" Offset, Tension Band,	\$0.45	\$0.45	\$0.58	\$0.58
FM54	1000	Black Fence Strap 1 5/8" Offset, Tension Band,	\$0.23	\$230.00	\$0.77	\$770.00
FM55	1500	Black	\$0.33	\$495.00	\$0.77	\$1,155.00
FM56	500	Fence Strap 2" Offset, Tension Band, Black Fence Strap 2 1/2" Offset, Tension Band,	\$0.33	\$165.00	\$0.82	\$410.00
FM57	1500	Black	\$0.50	\$750.00	\$0.86	\$1,290.00
FM58	1000	Fence Strap 3" Offset, Tension Band, Black	\$0.70	\$700.00	\$0.97	\$970.00

DATE O	F OPE	NING: October 8, 2007 @ 2:30PM		Fence Inc.		nie Fence Co
		cing Materials		Culbreath Rd	4707 S 30th Ave	
BID#0	8-027-L		Brooks	/ille, FL 34602	Tampa, FL 33619	
		**Board Meeting 11/6/07**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM59	100	Fence Strap 4" Offset, Tension Band, Black	\$1.41	\$141.00	\$0.70	\$70.00
FM60	1	Fence Strap 1-3/8" Center, Brace Band, Hot Dip Galvanized Fence Strap 1-5/8" Center, Brace Band,	\$0.24	\$0.24	\$0.30	\$0.30
FM61	1200	Hot Dip Galvanized Fence Strap 1-7/8" Center, Brace Band, Fence Strap 1-7/8" Center, Brace Band,	\$0.26	\$312.00	\$0.30	\$360.00
FM62	1200	Hot Dip Galvanized Fence Strap 2-3/8" Center, Brace Band,	\$0.28	\$336.00	\$0.33	\$396.00
FM63	1000	Hot Dip Galvanized Fence Strap 2-7/8" Center, Brace Band,	\$0.30	\$300.00	\$0.35	\$350.00
FM64	1500	Hot Dip Galvanized Fence Strap 3-1/2" Center, Brace Band,	\$0.37	\$555.00	\$0.40	\$600.00
FM65	1	Hot Dip Galvanized Fence Strap 4" Center, Brace Band, Hot	\$0.80	\$0.80	\$0.75	\$0.75
FM66	1	Dip Galvanized Fence Strap 1-5/8" Center, Brace Band,	\$0.82	\$0.82	\$0.75	\$0.75
FM67	1000	Black Fence Strap 1-3/8" Center, Brace Band,	\$0.80	\$800.00	\$0.54	\$540.00
FM68	500	Black	\$0.80	\$400.00	\$0.54	\$270.00
FM69	500	Fence Strap 2" Center, Brace Band, Black Fence Strap 2-1/2" Center, Brace Band,	\$0.86	\$430.00	\$0.60	\$300.00
FM70	1000	Black	\$0.93	\$930.00	\$0.60	\$600.00
FM71	500	Fence Strap 3" Center, Brace Band, Black	\$1.06	\$530.00	\$0.65	\$325.00
FM72	100	Fence Strap 4" Center, Brace Band, Black Fence Tension Bar 3/16" x 5/8" x 34" Hot	\$1.65	\$165.00	\$0.78	\$78.00
FM73	1	Dip Galvanized Fence Tension Bar 3/16" x 5/8" x 40" Hot	\$0.97	\$0.97	\$0.92	\$0.92
FM74	1	Dip Galvanized Fence Tension Bar 3/16" x 5/8" x 46" Hot	\$1.14	\$1.14	\$0.92	\$0.92
FM75	1400	Dip Galvanized Fence Tension Bar 3/16" x 5/8" x 58" Hot	\$1.25	\$1,750.00	\$0.92	\$1,288.00
FM76	1000	Dip Galvanized Fence Tension Bar 3/16" x 5/8" x 70" Hot	\$1.56	\$1,560.00	\$1.15	\$1,150.00
FM77	1400	Dip Galvanized	\$1.87	\$2,618.00	\$1.45	\$2,030.00

DATE O	F OPE	NING: October 8, 2007 @ 2:30PM	US Wholesale	Pipe & Tube, Inc	West Coast Fence Corp	
<b>BID TITI</b>	LE: Fer	cing Materials	3351 0	Grand Blvd	6500 49 St N	
BID#0	8-027-L		Holiday	, FL 34690	Pinellas Park, FL 33781	
		**Board Meeting 11/6/07**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM59	100	Fence Strap 4" Offset, Tension Band, Black	\$0.85	\$85.00	\$1.42	\$142.00
		Fence Strap 1-3/8" Center, Brace Band,				
FM60	1	Hot Dip Galvanized	\$0.33	\$0.33	\$0.21	\$0.21
		Fence Strap 1-5/8" Center, Brace Band,				
FM61	1200	Hot Dip Galvanized	\$0.2021	\$242.52	\$0.22	\$264.00
		Fence Strap 1-7/8" Center, Brace Band,				
FM62	1200		\$0.2021	\$242.52	\$0.25	\$300.00
		Fence Strap 2-3/8" Center, Brace Band,				
FM63	1000		\$0.30	*\$360.00/\$300.00	\$0.26	\$260.00
		Fence Strap 2-7/8" Center, Brace Band,	<b>4</b>	<b>.</b>		
FM64	1500	Hot Dip Galvanized	\$0.35	\$525.00	\$0.32	\$480.00
		Fence Strap 3-1/2" Center, Brace Band,	<b>4</b>	<b>.</b>		
FM65	1	Hot Dip Galvanized	\$0.74	\$0.74	\$0.69	\$0.69
		Fence Strap 4" Center, Brace Band, Hot	<b>^</b>	<b>*</b>	<b>^</b>	
FM66	1	Dip Galvanized	\$0.73	\$0.73	\$0.72	\$0.72
<b>5140</b>	4000	Fence Strap 1-5/8" Center, Brace Band,	40.00	Фооо оо	<b>A</b>	<b>*</b>
FM67	1000		\$0.30	\$300.00	\$0.80	\$800.00
<b>51.400</b>		Fence Strap 1-3/8" Center, Brace Band,	<b>#</b> 0.40	<b>#0</b> = 00	40.70	4005.00
FM68	500	Black	\$0.19	\$95.00	\$0.79	\$395.00
FM69	500	Fence Strap 2" Center, Brace Band, Black	\$0.50	\$250.00	\$0.86	\$430.00
1 10103	300	Fence Strap 2-1/2" Center, Brace Band,	Ψ0.50	Ψ230.00	ψ0.00	ψ+30.00
FM70	1000		\$0.70	\$700.00	\$0.94	\$940.00
1 1017 0	1000	Black	Ψ0.70	Ψ100.00	ψυ.σ-	ψ3+0.00
FM71	500	Fence Strap 3" Center, Brace Band, Black	\$0.81	\$405.00	\$1.07	\$535.00
			*	,		,
FM72	100	Fence Strap 4" Center, Brace Band, Black	\$0.90	\$90.00	\$1.67	\$167.00
		Fence Tension Bar 3/16" x 5/8" x 34" Hot	·	·	'	
FM73	1	Dip Galvanized	\$0.95	\$0.95	\$1.03	\$1.03
		Fence Tension Bar 3/16" x 5/8" x 40" Hot		·	·	
FM74	1	Dip Galvanized	\$0.95	\$0.95	\$1.19	\$1.19
		Fence Tension Bar 3/16" x 5/8" x 46" Hot				
FM75	1400		\$1.21	\$1,694.00	\$1.11	\$1,554.00
		Fence Tension Bar 3/16" x 5/8" x 58" Hot				
FM76	1000		\$1.20	\$1,200.00	\$1.38	\$1,380.00
		Fence Tension Bar 3/16" x 5/8" x 70" Hot				
FM77	1400	Dip Galvanized	\$1.84	\$2,576.00	\$1.66	\$2,324.00

# DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE O	F OPE	NING: October 8, 2007 @ 2:30PM	Cole	Fence Inc.	McCo	nnie Fence Co	
<b>BID TITI</b>	LE: Fen	cing Materials	2123 C	Culbreath Rd	4707 S 30th Ave		
BID# 0	8-027-L		Brooksv	ille, FL 34602	Tampa, FL 33619		
		**Board Meeting 11/6/07**					
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
FM78	50	Fence 36" Tension Bar, Fiberglass, Black	\$2.50	\$125.00	\$1.20	\$60.00	
FM79	800	Fence 48" Tension Bar, Fiberglass, Black	\$2.50	\$2,000.00	\$1.30	\$1,040.00	
FM80	400	Fence 60" Tension Bar, Fiberglass, Black	\$3.15	\$1,260.00	\$1.65	\$660.00	
FM81	800	Fence 72" Tension Bar, Fiberglass, Black	\$3.91	\$3,128.00	\$2.55	\$2,040.00	
FM82	1000	Fence Eye-Top Loop Cap, 1-5/8" x 1-5/8" Galvanized	\$1.40	\$1,400.00	\$0.72	\$720.00	
FM83	1500	Fence Eye-Top Loop Cap, 1-7/8" x 1-5/8" Galvanized	\$1.44	\$2,160.00	\$0.75	\$1,125.00	
FM84	1400	Fence Eye-Top Loop Cap, 2-3/8" x 1-5/8" Galvanized	\$1.73	\$2,422.00	\$0.89	\$1,246.00	
FM85	1	Fence Eye-Top Loop Cap, 2-7/8" x 1-5/8" Galvanized	\$2.99	\$2.99	\$1.20	\$1.20	
FM86	1	Fence Eye-Top Loop Cap, 1-5/8" x 1-3/8" Aluminum Fence Eye-Top Loop Cap, 1-7/8" x 1-3/8"	\$0.60	\$0.60	\$0.72	\$0.72	
FM87	1	Aluminum Fence Eye-Top Loop Cap, 1-7/8" x 1-5/8"	\$0.85	\$0.85	\$0.75	\$0.75	
FM88	1	Aluminum	\$1.02	\$1.02	\$0.85	\$0.85	
FM89	1	Fence Eye-Top Loop Cap, 2-3/8" x 1-5/8" Aluminum	\$1.12	\$1.12	\$1.20	\$1.20	
FM90	1500	Fence Eye-Top Loop Cap, 2" x 1-5/8" Black	\$3.10	\$4,650.00	\$1.65	*\$2970.00/\$2,475.00	
FM91	500	Fence Eye-Top Loop Cap, 2 1/2" x 1-5/8" Black	\$3.45	\$1,725.00	\$2.10	\$1,050.00	
FM92	100	Fence Eye-Top Loop Cap, 3" x 1-5/8" Black	\$6.43	\$643.00	\$2.50	\$250.00	
FM93	1	Fence Rail End Cap 1-3/8" Aluminum	\$0.46	\$0.46	\$0.70	\$0.70	
FM94	1	Fence Rail End Cap 1-5/8" Aluminum	\$0.75	\$0.75	\$0.70	\$0.70	
FM95	1	Fence Rail End Cap 1-3/8" Galvanized	\$0.85	\$0.85	\$0.70	\$0.70	
FM96		Fence Rail End Cap 1-5/8" Galvanized	\$1.15	\$1,150.00	\$0.70	\$700.00	
FM97		Fence Rail End Cap 1-3/8" Black	\$1.23	\$615.00	\$0.88	\$440.00	
FM98	1000	Fence Rail End Cap 1-5/8" Black	\$1.50	\$1,500.00	\$1.06	\$1,060.00	
FM99	150	Tie Wire 8-1/4" #9 Gauge Aluminum, 100/Bag	\$5.18	\$777.00	\$5.55	\$832.50	
FM100	100	Carriage Bolts w/Nuts 5/16" x 1-1/4" 100/Box	\$5.74	\$574.00	\$5.55	\$555.00	
FM101	1	Carriage Bolts w/Nuts 5/16" x 2" 100/Box	\$7.72	\$7.72	\$6.25	\$6.25	
FM102	100	Carriage Bolts w/Nuts 5/16" x 2-1/2" 100/Box	\$9.89	\$989.00	\$9.50	\$950.00	

# DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE O	F OPE	NING: October 8, 2007 @ 2:30PM	US Wholesale	Pipe & Tube, Inc	West Coas	t Fence Corp
<b>BID TITI</b>	LE: Fen	cing Materials	3351 Grand Blvd		6500 49 St N	
BID#0			Holiday	, FL 34690	Pinellas Park, FL 33781	
		**Board Meeting 11/6/07**	•			
ITEM#	QTY.		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM78	50	Fence 36" Tension Bar, Fiberglass, Black	\$1.54	\$77.00	\$1.58	\$79.00
FM79	800	Fence 48" Tension Bar, Fiberglass, Black	\$1.83	\$1,464.00	\$1.75	\$1,400.00
FM80	400	Fence 60" Tension Bar, Fiberglass, Black	\$2.00	\$800.00	\$2.29	\$916.00
FM81	800	Fence 72" Tension Bar, Fiberglass, Black Fence Eye-Top Loop Cap, 1-5/8" x 1-5/8"	\$2.74	\$2,192.00	\$2.85	\$2,280.00
FM82	1000	Galvanized	\$0.55	\$550.00	\$1.24	\$1,240.00
FM83	1500	Fence Eye-Top Loop Cap, 1-7/8" x 1-5/8" Galvanized	\$0.85	\$1,275.00	\$1.28	\$1,920.00
FM84	1400	Fence Eye-Top Loop Cap, 2-3/8" x 1-5/8" Galvanized	\$1.10	\$1,540.00	\$1.45	\$2,030.00
FM85	1	Fence Eye-Top Loop Cap, 2-7/8" x 1-5/8" Galvanized Fence Eye-Top Loop Cap, 1-5/8" x 1-3/8"	\$1.40	\$1.40	\$2.66	\$2.66
FM86	1	Aluminum Fence Eye-Top Loop Cap, 1-5/8 x 1-3/8 Fence Eye-Top Loop Cap, 1-7/8" x 1-3/8"	\$0.50	\$0.50	\$0.53	\$0.53
FM87	1	Aluminum Fence Eye-Top Loop Cap, 1-7/8 x 1-5/8	\$0.65	\$0.65	\$0.76	\$0.76
FM88	1	Aluminum Fence Eye-Top Loop Cap, 1-7/8 x 1-5/8 Fence Eye-Top Loop Cap, 2-3/8" x 1-5/8"	\$0.65	\$0.65	\$0.90	\$0.90
FM89	1	Aluminum	\$1.00	\$1.00	\$0.99	\$0.99
FM90	1500	Fence Eye-Top Loop Cap, 2" x 1-5/8" Black Fence Eye-Top Loop Cap, 2 1/2" x 1-5/8"	\$1.30	\$1,950.00	\$3.14	\$4,710.00
FM91	500	Black	\$1.30	\$650.00	\$3.50	\$1,750.00
FM92	100	Fence Eye-Top Loop Cap, 3" x 1-5/8" Black	\$1.63	\$163.00	\$3.99	\$399.00
FM93	1	Fence Rail End Cap 1-3/8" Aluminum	\$0.40	\$0.40	\$0.36	\$0.36
FM94	1	Fence Rail End Cap 1-5/8" Aluminum	\$0.50	\$0.50	\$0.59	\$0.59
FM95	1	Fence Rail End Cap 1-3/8" Galvanized	\$0.40	\$0.40	\$0.97	\$0.97
FM96	1000	Fence Rail End Cap 1-5/8" Galvanized	\$0.66	\$660.00	\$1.03	\$1,030.00
FM97	500	Fence Rail End Cap 1-3/8" Black	\$0.50	\$250.00	\$1.13	\$565.00
FM98	1000	Fence Rail End Cap 1-5/8" Black	\$1.01	\$1,010.00	\$1.96	\$1,960.00
FM99	150	Tie Wire 8-1/4" #9 Gauge Aluminum, 100/Bag	\$5.50	\$825.00	\$8.25	\$1,237.50
FM100	100	Carriage Bolts w/Nuts 5/16" x 1-1/4" 100/Box	\$5.50	\$550.00	\$5.00	\$500.00
FM101	1	Carriage Bolts w/Nuts 5/16" x 2" 100/Box	\$8.00	\$8.00	\$7.00	\$7.00
FM102		Carriage Bolts w/Nuts 5/16" x 2-1/2" 100/Box	\$10.00	\$1,000.00	\$8.00	\$800.00

DATE O	ATE OF OPENING: October 8, 2007 @ 2:30PM		Cole	Fence Inc.	McConnie Fence Co		
BID TITI	_E: Fen	cing Materials	2123 0	Culbreath Rd	4707 S	30th Ave	
BID#0	8-027-L		Brooksville, FL 34602		Tampa, FL 33619		
		**Board Meeting 11/6/07**					
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
FM103	1	Carriage Bolts w/Nuts 3/8" x 2" 100/Box	\$11.73	\$11.73	\$10.00	\$10.00	
FM104	10	Carriage Bolts w/Nuts 3/8" x 2-1/2" 100/Box	\$14.45	*\$1,445.00/\$144.50	\$12.50	\$125.00	
FM105	50	Carriage Bolts w/Nuts 3/8" x 3" 100/Box	\$16.14	\$807.00	\$13.75	\$687.50	
FM106	25	Carriage Bolts w/Nuts 3/8" x 3-1/2" 100/Box	\$20.44	\$511.00	\$13.75	\$343.75	
FM107	5	Barb Wire #12-1/2 Gauge 4 pt. Domestic Class One	\$70.28	\$351.40	\$75.00	\$375.00	
FM108	2	Barb Wire #12-1/2 Gauge 4 pt. Domestic Class One Black	\$186.62	\$373.24	\$167.00	\$334.00	
FM109	10	Hog Rings, #9 gauge, Steel Zinic Coating, 25 LB	\$46.50	\$465.00	\$34.90	\$349.00	
FM110	1	Hog Rings, #12-1/2 gauge, Steel Zinic Coating, 25 LB	\$55.25	\$55.25	\$40.00	\$40.00	
FM111	2	Hog Rings, Black Aluminum, 10lb box, 1320 per box	***\$3.35/\$33.50	\$6.70/\$67.00	****\$0.05/\$66.00	\$0.10/\$132.00	
FM112	150	#16 Black Ties, Aluminum 100 per bag	****\$0.103/\$10.30	\$15.45/\$1,545.00	*****\$0.05/\$7.50	\$7.50/\$750.00	
		TOTAL ALL OR NONE BID PRICE:	*\$794,072	.53/\$844,453.53	*\$764,255.6	66/\$777,135.06	
*additio	n error						
**price	er foot	<u> </u>					
***price	per po	und					
****price	per ea	nch					
*****pric	e per e	ach/150 per bag					

DATE OF OPENING: October 8, 2007 @ 2:30PM		US Wholesale Pipe & Tube, Inc		West Coast Fence Corp	
BID TITLE: Fencing Materials		3351 Grand Blvd		6500 49 St N	
BID # 08-03		Holiday, FL 34690		Pinellas Park, FL 33781	
	**Board Meeting 11/6/07**				
ITEM# Q	TY. DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM103	1 Carriage Bolts w/Nuts 3/8" x 2" 100/Box	\$15.00	\$15.00	\$9.00	\$9.00
	O Carriage Bolts w/Nuts 3/8" x 2-1/2" 100/Box	\$15.00	\$150.00	\$12.00	\$120.00
FM105 5	Carriage Bolts w/Nuts 3/8" x 3" 100/Box	\$18.00	\$900.00	\$15.00	\$750.00
FM106 2	Carriage Bolts w/Nuts 3/8" x 3-1/2" 100/Box Barb Wire #12-1/2 Gauge 4 pt. Domestic	\$13.00	\$325.00	\$18.00	\$450.00
FM107	5 Class One	\$73.00	\$365.00	\$69.86	\$349.30
FM108	Barb Wire #12-1/2 Gauge 4 pt. Domestic Class One Black Hog Rings, #9 gauge, Steel Zinic Coating,	\$145.60	\$291.20	\$187.99	\$375.98
FM109 1	0 25 LB	\$46.25	\$462.50	\$28.00	\$280.00
FM110	Hog Rings, #12-1/2 gauge, Steel Zinic Coating, 25 LB Hog Rings, Black Aluminum, 10lb box,	\$46.25	\$46.25	\$32.75	\$32.75
FM111	2 1320 per box	****\$0.03/\$39.60	\$0.06/\$79.20	****\$0.045/\$59.34	\$118.68
FM112 1	50 #16 Black Ties, Aluminum 100 per bag	****\$0.10/\$10.00	\$15.00/\$1,500.00	****\$0.09/\$9.00	\$13.50/\$1,350.00
	TOTAL ALL OR NONE BID PRICE:	*\$728,857.93/\$730,362.07		\$686,513.22/\$747,522.22	
*addition e	rror				
**price per					
***price per					
****price pe					
*****price per each/150 per bag					